





$$\lim_{x \to \infty} \frac{\left(\ln x\right)^2}{x} = \int_{-\infty}^{\infty} \frac{2\ln x \cdot \left(\frac{1}{x}\right)}{1}$$
$$= \lim_{x \to \infty} \frac{2\ln x}{x} = \int_{-\infty}^{\infty} \frac{2\ln x}{2}$$
$$= \lim_{x \to \infty} \frac{2\ln x}{x} = \int_{-\infty}^{\infty} \frac{2\ln x}{1}$$
$$= \lim_{x \to \infty} \frac{2\left(\frac{1}{x}\right)}{1}$$
$$= \lim_{x \to \infty} \frac{2}{x} = 0$$





$$\lim_{x \to 1^{+}} \left( \frac{x}{x-1} - \frac{1}{\ln x} \right) = "\infty - \infty"$$
  
**Get a common denominator**

$$= \lim_{x \to 1^{+}} \left( \frac{x \cdot \ln x}{(x-1) \ln x} - \frac{1(x-1)}{(x-1) \ln x} \right) = \lim_{x \to 1^{+}} \left( \frac{x \cdot \ln x - x + 1}{(x-1) \ln x} \right) = "\frac{0}{0}"$$

$$\stackrel{L'H}{=} \lim_{x \to 1^{+}} \frac{1 \cdot \ln x + x \cdot \frac{1}{x} - 1}{1 \cdot \ln x + (x-1) \cdot \frac{1}{x}}$$

$$= \lim_{x \to 1^{+}} \frac{\ln x \neq 1 - 1}{\ln x + 1 - \frac{1}{x}} = \lim_{x \to 1^{+}} \frac{\ln x}{\ln x + 1 - \frac{1}{x}} = "\frac{0}{0}"$$

$$\stackrel{L'H}{=} \lim_{x \to 1^{+}} \frac{\ln x}{\ln x + 1 - \frac{1}{x}} = \lim_{x \to 1^{+}} \frac{\ln x}{\ln x + 1 - \frac{1}{x}} = [\frac{1}{2}]$$

Other indeterminate forms  
3. Indeterminate powers 
$$[0^0, \infty^0, 1]^\infty$$
  
Use ln to convert into a quotient  

$$\lim_{x \to a} f(x)^{g(x)}$$

$$y = \lim_{x \to a} f(x)^{g(x)} \implies \ln y = \ln \left[ \lim_{x \to a} f(x)^{g(x)} \right] \implies \ln y = \lim_{x \to a} \left[ \ln f(x)^{g(x)} \right]$$

$$let y \text{ equal the limit} \qquad take the ln of both sides \qquad interchange ln and lim$$

$$\implies \ln y = \lim_{x \to a} \left[ g(x) \cdot \ln f(x) \right] \leftarrow \text{this will be in the form } [0 \cdot \pm \infty]$$

$$use the power rule for ln \qquad follow the directions for  $0 \cdot \infty$  to find the limit  $L$ 

$$\implies \ln y = L \implies e^{\ln y} = e^{L} \implies y = e^{L}$$
make both sides the exponent  
on *e* to get back to *y*$$

$$\lim_{x \to 0} (1 - 6x)^{\frac{1}{x}} = \|1^{\infty}\|^{1}$$

$$y = \lim_{x \to 0} (1 - 6x)^{\frac{1}{x}}$$

$$\ln y = \ln \left[ \lim_{x \to 0} (1 - 6x)^{\frac{1}{x}} \right]$$

$$\ln y = \ln \left[ \lim_{x \to 0} (1 - 6x)^{\frac{1}{x}} \right]$$

$$\ln y = \lim_{x \to 0} \left[ \ln (1 - 6x)^{\frac{1}{x}} \right]$$

$$\ln y = -6$$

$$e^{\ln y} = e^{-6}$$

$$y = e^{-6}$$

$$y = e^{-6}$$

$$\ln y = \lim_{x \to 0} \left[ \frac{\ln (1 - 6x)}{x} \right] = \begin{bmatrix}0\\0\\0\end{bmatrix}$$

$$\lim_{x \to 0} (1 - 6x)^{\frac{1}{x}} = e^{-6}$$

$$\lim_{x \to 0} (1 - 6x)^{\frac{1}{x}} = e^{-6}$$

$$\lim_{x \to \infty} \left( 1 + \frac{a}{x} \right)^{bx} = "1^{\infty} " \qquad a, b \text{ real numbers}$$

$$y = \lim_{x \to \infty} \left( 1 + \frac{a}{x} \right)^{bx}$$

$$\ln y = \ln \left[ \lim_{x \to \infty} \left( 1 + \frac{a}{x} \right)^{bx} \right]$$

$$\ln y = \ln \left[ \lim_{x \to \infty} \left( 1 + \frac{a}{x} \right)^{bx} \right]$$

$$\ln y = \lim_{x \to \infty} \left[ \ln \left( 1 + \frac{a}{x} \right)^{bx} \right]$$

$$\ln y = \lim_{x \to \infty} \left[ \ln \left( 1 + \frac{a}{x} \right)^{bx} \right]$$

$$\ln y = \lim_{x \to \infty} \left[ \frac{b \cdot \ln \left( 1 + \frac{a}{x} \right)}{\frac{1}{x}} \right] = "\infty \cdot 0"$$

$$\ln y = ab$$

$$e^{\ln y} = ab$$

$$e^{\ln y} = e^{ab}$$

$$y = \lim_{x \to \infty} \left( 1 + \frac{a}{x} \right)^{bx} = \frac{e^{ab}}{e^{ab}}$$